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Since the X290 is on top of her, the Xw>1 is by different work

OVERVIEW

The &n>>12 [in the Xw°1] states that if there was 0°7¥22 79X then even though nywa
nnon, the o°9va were working nR 01pna, nevertheless the PR is Mo, In the X9°0
the Xn>12 states that if he borrowed the o°%va after he borrowed the 7119, even if the
D°%¥2 were 1N NYWA 723 9Y 0°wn, nevertheless the PR is 21, Initially (in order
not to refute X111»77 27)! the Xm3 interpreted nR 23PP2 in the XwW™ to mean MR2
TP IRY 0 XpPT 70892 The X3 rejected this explanation (of R opn1), for
since the X9°0 states 1723 9y, we must assume that the Xw1 is NANX 7985123 Our
Mmoo discusses the need to ask the question from the X9°0.

— 412 DY UM 19N DIITNY 299193 INY
For if the Xw1 is in a case of 181 "2 that is the exact equivalent of 3"v.

mooIn asks (based on the above):
- YUY 1199 5UPIN NOYD NY2 NOYD NN PIPTY 7098 INNRT NNSM

And it is astounding! Why is it necessary to infer from the X2°9, that 91X 01pn2

cannot mean 7°1X1 °977, the X is difficult even without the X2°0 -
= 59999N NI WNN NAX DY 1397 DTN 99993 INT

For if the Xw™, when it states X 2pn, it means »7RY "27%; that is the exact
equivalent of 3", so what is the meaning of Y2°5R (even) if it was X o1pna —

mooIN anticipates a possible resolution to his question:

! X117 21 maintains that in order there should be a Mwd of o°7ya3 7MW, it requires that the o7y work with the
borrowed cow 1n°» NYW TV 72°RW NYWA.
2 See *omp7 "7 >"wA that the owner is continually loosening the ground in front of the plowing cow with a shovel,
for the land is very hard to plow.
3 Presumably we could derive the rule of the X°0 (by 7na8712 7y PX) that he is 21, by inference from the XA
(where he is 75 [only] by nnox9na ny) and vice versa. The (only) justification of having two cases is because each
case teaches a w171 with the case of 12°9X' (even W5 NNX 798712, and even 21 3"y). However, if the “Y2°5X’ in both
cases are similar (2°7X1 °277 and 3"v), why the need for two cases? This is the s'8 3 question.
4 We must assume that the 813 equated 21X 07 with 3"y; otherwise what is the s’ question; the 8970 is 3"y
(which is 7noX?12 7v) and the Rw is 2°1RY *o7n (which is less nox712a 71av). Therefore we must conclude that they
are both considered the same thing (7n2X%12 nny).
5> The ®n™ 2 teaches that if the 779 and the o7v2 were hired together, then even if the o7v2 was working with the
IR DPn2 779 the PXW is 1o, However if 7nX 03pn2 means 2°1X1 °977 which is the equivalent of 3"y (see footnote #
4), what is the w17°n1 that even if it is "¥ he is 79; obviously he is w9 since the o°%va are with the cow!
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And if you will say; that the X3 could not have asked only from the Xw>9
(without the inference of the &9°0), for one can say, that the Xn>92 is coming to

teach us this very concept -
= 125 Hyd "N HIINY 29917

That 51R8) *22% is the same as A" -
= 793N 2991 NYT 22 DY X Na) DY II2ON VP INNNT V29V 7999 NOYDN YAN

However there is a proper question from the X2, for why does the Xn»n2

mention 7723 ¥ Y9°5K in the X9°0, meaning even though he is not just 18 5592 -
- 879 1999 KW XN

But we know this from the X@*9! This would seemingly answer MpoI1n question.

mooIn rejects this resolution:
= 109559N N0 TPIVNIN INNAN SYPIN NINNK NINDNA XY I 19) 95 )5 ONT

For if indeed it is so, then even when we establish the X291 by nanR 7585, the

question still remains why is it necessary for the X2°0 to state, [A"'¥] 1995N -
= 111933 Dy NN NINN NINDNT )9¥IY XY NN

For we know already from the NXw>1 that nanN 7o8%% is like 3"'¥. The original
question remains. Why do we need to base our question on the &9°0, when we can ask directly
from the xw7?!

Mo0IN answers
= NIA9Y NAX DY 7PDY 199N NOYDA VPIT NY RN NINN NINDNI XY INT 129990 U

And one can say; that if the Xw>1 is NN 7o8P23 it is satisfactory that the X5
mentions 3"y 77952 290K for a novelty, that -

® We can distinguish factually between 21X1 97 and 3"y, however the Xn*2 teaches that even 1X1 971 (which is
factually not the same as 2"V, nevertheless it) is considered 2", so that the 9XW is 719,
7 The x2°0 (by saying 2"v “5X) seems to say that even if he was more than just 71X °27n, but he was actually 1"y,
nevertheless he is still 2. However we already know from the X1 that 2°1%1°97n is the equivalent of 3"y, so why is
there a bigger 171 by 3"¥ than by 2°1R1 97! We go back to the original question; why two cases (see footnote # 3).
8 The gist of this answer maintains that once we know there is no 71397 difference between 21X 571 and 3"y, there is
no W71 in writing 3"y (even though there is a factual difference); therefore no need for two cases.
9 See footnote # 8. Once we assume that we only look at the 71977 (not the factual difference). There is also no
difference between nnk 772871 (which exempts when it was 7naX?»2 72y for it is considered 1"v), and wnn 2"y (so we
do not need the 890 to teach us that 3"y does not exempt when it was not Tnax?12 7ay). See ‘Thinking it over’.
19 The 127 mian amends this to read X7 723 %V 190X (instead of X7 170K).
'"'If the question from the X0 is based on the 71297 similarity between 2°TX) *> and 3"y (despite their factual
difference), then there is a question (not only on X137 27, but) on the Xn*12 which is repetitive, for once we know
that nnK 71X77 is the 71397 equivalent of 3"y, there is no need for the X9°0.
12 mpoin is basically accepting the answer of the previous '8»°n *31, by distinguishing between the factual difference
between TnX 0 and 2"y (which is vast) and the factual difference between 2°1X) *9% and 2"y (which is minimal).
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That even though that we can derive it from the Xw>9, nevertheless since 3"y is

factually far from nanR 7OK5%, therefore he mentions 3"y »5X in the X970 -
= DITNY 29917 1999 NINDM NN XYW IN JAN

However if the 8w is discussing 798%% 1nIN2, and meaning for instance S59%

998", therefore the question is -
— 1125 YYD 139977 KW )IYNYUNT 195

Since the Xw>9 taught us that 51x) 571 is like 2"y -
£ Y DOVUIN DIYYA IJPAN NOYDA VPIMNIY 998 NN KXY N

It is no longer necessary to mention in the X559, ‘even 3"y 227 2%%¥3,” since it
is not that much different than *51x1 *5n.

SUMMARY
We can more readily distinguish between major factual differences, as opposed to
minor factual differences (even if 72579 they are equivalent).

THINKING IT OVER

moon refutes his proposed answer by equating 21X *57n and 2"V, with nInNX 7287
and 2"v.!> However there seems to be a major difference; when we are equating
2IRY 07 and A"V, we agree with X117 27 that it must be 7OX%7 70IR2 so IR 071
and 1"V are both considered 7oX%n MR (they are equivalent). However if the X
is NINR 7OX9M2, we reject X11IM7 21 and maintain that he is not required to be MR
moR9n, therefore the 90 tells us an important w171 that even if he was 2"y (which
is not NIIX 71987N) nevertheless if was not 7IN2XY12 7Ny he is 2n!

13 See footnote # 7-9.
14 Such a vast difference between nInx 79877 and A"y justifies writing 3"V in the X9°0 even if they are the same 713775,
15 See footnote # 8.
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